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Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ HiadT I g€ F & Ugad fafar =1 Del oldl %:
1. Massed learning /33 T R 3R

2. Distributed learning / [ade fRref

3. Serial memorization / S 1Hd HEART]

4. Paired Associate learning / gﬁlﬁ H@ﬂ?ﬁ \}@"Tq

Correct Answer :-

« Serial memorization / STHEH TTAUT

. | HTYT ATdgaTaTd YRS ' W Ao Ayl s 9 § e

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that

1. Language determines perception / W@Haﬁﬁﬁﬁﬁm%l

2. Language determines thought / Wﬁﬂﬂﬁﬁﬂfﬁﬁaﬂ?ﬁ%l

3. Language influences memory / WWW@W—@HW%I
4. Language influences thought / Wﬁﬂﬂﬁm—fﬁﬁm%l

Correct Answer :-

« Language determines thought / Wﬁﬂﬂﬁﬁﬂfﬁﬁm%l

3) An individual who is lacking in achievement motivation would exhibit A2 afa forad e Iuafsy & s % CH
wefRfa s

1. Self-assurance / 3{TH-3THTT

2. Pessimism / FRT=ImaTE

3. Pragmatism / FdgRdIq

4. Positive outlook / P RIHD ?@W

Correct Answer :-

o Pessimism / RTLMATE

4) Planning in inclusive education should be followed by . guTa fRrem ® gierT B F GRI UTaH fHar s ﬂ'l'f%'q |

1. Recapitulation / R-H YT

2. Evaluation / Hedieh
3. Implementation / Hrafa

4. Assessment / 3T e

Correct Answer :-

« Implementation / HTAFGET

5) The RTE Act was enacted in the year: / mﬁ Srfefeas £ ¥ # FIT‘]'\ﬁTQT T YT

1. 2010



2.2008
3.2011
4. 2009
Correct Answer :-
* 2009

6) ‘Jack is a below average student in mathematics’. Which of the following tests would best support he above statement?/ S i ﬁ'w PSR B

71 FrafafeT & @ S a1 weor ST $Y B Faiay T F3d1 82
1. Intelligence test / gf TX&0T

2. Aptitude test / ST URT&0T

3. Achievement test / SUTTY TRI&OT

4. Skill based test/ BT TR TLeor

Correct Answer :-

« Achievement test / ST TRI&T0T

7) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for which the dog naturally salivated? / gﬁ % qaiy

UIgala & URIS YIRT §, 98 Mg I AT AT Rt SuaT 39 UIeH &1 v &+ & g fsan mar o1 Rrads forg ar wnwnfas wu
¥ 9R TUSAT UT?

1. Unconditioned response / ¥dTHTfdd 31":{@7_{11
2. Neutral stimulus / TE¥] G_F: b
3. Unconditioned stimulus / SITHTIde Gm

4. Conditioned stimulus / &Iﬂafﬁ’d REAREE
Correct Answer :-

« Unconditioned stimulus / STHTId® Gé Jdh

8) How many pairs of source traits did Cattell identify in his theory of personality? /

Fa Y Y st B R & W wa & e g foxama?
1. 16
2.32
3. 14

4.22

Correct Answer :-

9) Teacher eligibility test is an example of which type of test? / TRI&I® UTTAT UI&I0T fohdd UHR &b U&I0T BT TP IS8T 82
1. Aptitude / ST
2. Creativity / goTTRAQrdl

3. Intelligence /§@
4., Personality / Hfddd

Correct Answer :-

o Aptitude / S

10) In a learning friendly environment, the following characteristics are present except ./ IR & U I P aATdTaror ﬁ, ¥
et Frafafed faRvang Sufea 81

1. Learner autonomy / Rre ff &) W

2. Multi-disciplinary approach / a@-ﬁw GECAU




3. Teacher monitoring /ﬁ[&@ B FIRTT
4. Flexible process /Fﬁﬁ?ﬁ ufesar

Correct Answer :-

« Teacher monitoring / e/ &t AR

11) In a language, the smallest unit that signifies meaning is called ____ / foreft wren A, 3 F1 g areht wad Bid W’g Eg| Cad)
STaT g1

1. Phoneme / TAH (BI-1H)

2. Syntax / AT = (i)
3. Word / TIeG (39)

4. Morpheme / 3f0H (ATHTH)

Correct Answer :-

o Morpheme / | (J:I'\lﬁqfﬁ:[)

12) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice? / fafafaada BT HYT DPET AT |

3Ry IR B gad 3=t avg aftfa exar &2

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / e ATl & Weed H'T{T‘IT% 3R Rranfa 1 7% et
I Ug=H & fore fawey a8

2. The teacher uses praise and appreciation of a child’s work. / e = & BT Bt WG 3R v W%I

3. The teacher gives a short break to have snacks and water. / Reres Arar SR U O aﬂ%qu BT T %I

4. The teacher provides rules and conditions to complete the task. / Rreres 1 Y o HHAB ﬁm e 3R It UG Rl %I
Correct Answer :-

o The teacher encourages autonomy and gives choices to the learners to reach their goals. / g1 arRIaT &1 Wiefed W% 3R frenffa & 37 et
T Ug= & foru e 2 21

13) Which of the following is not a part of the process of memory? frafafadde= Fiﬁf @1 uferar &1 fewar qﬁ%"
1. Storage / HSRUT

2. Retrieval / G e

3. Encoding / SADIST

4. Motivation / UROTT

Correct Answer :-

+ Motivation / U0

14) Which part of memory involves forgetting unnecessary information in 15-25 seconds? /'\q{ﬁ' & 5T URTH 15-25 Ydbs H SFAEAAS
ST B Y& AT M 82

1. Long term memory / FPEaIE] WPCT
2. Sensory register / Hadt Iforex

3. Working memory / I gﬂﬁf

4. Short term memory / Ef‘g-?ﬂ?ﬂ:f F:ﬂ?l

Correct Answer :-

« Short term memory / aﬁ-aﬂ?ﬁ:{ F{ﬁf

15) Infants develop stranger shyness by the age of . /ﬁl’{[ P IY P mﬁﬁﬁﬁm 1 3T s Ria m%l
1. Three months /?ﬁ:”:rbﬁﬁ

2. One year / Uh EL



3. Nine months /:ﬁ 'q_tﬁef
4, Six months / 88 ﬂTSﬁef
Correct Answer :-

o Six months / ¥g% I[Tiv‘ﬁ

16) Deductive method proceeds from : T fafYr I UDPR Eﬂ?ﬂ %:
1. Examples to illustrations / 3GIG 0T I Wl?ﬁ @I 3R

2. Law and rules to observation / BT 3R Fgwl & sraeie B 3R

3. Specifications to generalisations / grfieR ¥ fafdn &t ok

4, Observation to examples / AP o Jalgrul @I 3R

Correct Answer :-

« Law and rules to observation / BT 3R Fawl  sraeier B 3R

17) What is the term used to describe the strong bond between a mother and her child? /1T 3R 3P g1 & f el §UF BT U FA S
fre fr wreg &1 QU@ fvan wran @2

1. Love / 9 (@0@)

2. Security / gR&T (RN
3. Maternity / HIJcd (ﬁﬂﬁ?ﬁ)
4. Attachment / HHAT (3@3@?)

Correct Answer :-

« Attachment / HHdI (\31%?@?)

18) What type of intelligence would be used when trying to navigate through traffic? / Eﬁw T Afdiie # B FIR Ha 97 59 PR Fi
S 1 IuGIT far wmn?

1. Interpersonal intelligence / SR‘R-%QW §@

2. Intrapersonal intelligence / GER'I%TIW @m
3. Spatial intelligence / R I @

4. Naturalistic intelligence / HTep b aTg! gf

Correct Answer :-

« Spatial intelligence / RJNEa @j?

19) Hereditary factors begin their influence right from the time of of the child./ WTTTH PRE T S F JUY A ST
YHTG = H3d &

1. Development / fomra

2. Growth / q@

3. Conception / THTYT

4. Early years / TRR® a'sf

Correct Answer :-

« Conception / THTT

20) According to Kohlberg, child may question the social and political beliefs of the parents and elders in moral

development stage. / PIEAT & IR, T=T, Afae feT 9= & Arar-far 3k 81 Y Ao 3R
IeTfae Aradarel R 9ard ST HPHar gl

1. Post-conventional /W—W



2. Formal conventional / 3MU=TRe URURS
3. Pre-conventional / Uﬁ-m
4. Conventional / URUNG

Correct Answer :-

« Post-conventional /UQ%[—EFNCIW

21) How will you calculate average marks of students? / 310 ST & 3 3BT B TUAET HA B2
1. Geometric mean/ foraHfee e

2. Variance/ YHRUT

3. Standard deviation/ AT fage

4. Arithmetic mean/ 3BT 3fTd

Correct Answer :-

« Arithmetic mean/ 3O 3 Fd

22) Generally, all classrooms will have diversity. Identify the dimension that does not present too many problems related to diversity.

1 TR R, g weqmai # fafaear erft | 39 smam &) vga it ag4 siftre fafduar @ wafta 3 guwansi # uxga T8t srar g1
1. Cultural background/ HRgpicier gEYH

2. Geographical status/ 1o U

3. Social beliefs / ATHTTES AT

4. Athletic ability/ GF IraaTd

Correct Answer :-

« Geographical status/ Wifers fRufa

23) Which of the following is a child's attribution to success? / FEfIAd # A F9 W qwaar & ¢ e 7= Fi fAAwand g2
1. Consistent focus on Learning / ST IR TR e Higd BT

2. Random focus on self / T TR €O BHfgd HIAT

3. Maintain worksheets and notes / HTIUAS (dhRite) SR Ay AT HAT

4, Believe in luck / HT'T TR ﬁmm

Correct Answer :-

« Consistent focus on Learning / SHFRTH IR TR WWW

24) CANCELLED

You are helping a mother to develop a behavioral program to deal with her son Raj who has oppositional defiant disorder. Which of the following
is the MOST significant component of this program?

/ 39 TP AT B 379 3¢ I A 7 F T v HagR Srded [AeRia $31 § #eg 1 R ¢, I $I i fethe f3wais 81 Fafafaa o
{ P 1 39 PTHHH $T 94 AGQ@YU! 9P 82

1. Strict parenting / ¥¥%d TR

2. Detention / R4

3. Positive reinforcement / WWUT
4. Punishment / Il

Correct Answer :-

« Positive reinforcement / WWUT

25) CANCELLED



Which of the following is not part of the quantitative prerequisite for Continuous and Comprehensive Evaluation? / Hdd Td ST Tedih ¥ fag

Frafefea & w1 werers gatan o1 e 18 82
1. Classrooms / PETY

2. Schools / fa=ITer

3. Teachers / QTW

4. Curriculum / GT&dhH

Correct Answer :-

o Curriculum / GTGAHH

26) CANCELLED

Constructivism assumes that all knowledge is: / Xd-TdIg g AT % f&adh A = %:
1. Constructed from the learner’s previous knowledge. / Rgmff & WW 3 fftfa

2. Constructed solely by the learner. / ﬁf&‘ﬁ?ﬁm Faq fAfifa

3. Transmitted to the learners by the teacher. / e gy fRremeff o1 oy

4. Acquired solely through personal experience. / fdTa 3HT & 1Y ¥ FHad uTe faar gl

Correct Answer :-
o Constructed from the learner’s previous knowledge. / fQT&‘IT?ﬁé WW g faffa
27) CANCELLED
may affect a child’s social development. / R T & TS e &1 guIfad o= Ihdr %l
1. Asthma/ 3{JHT
2. Chronic Illness / W SR
3. Allergies/ QT“I\_SW
4. Eating habits/tﬁﬂef ﬁ Slad

Correct Answer :-

« Chronic Illness / m SR

28) As per Cognitive Constructivism, learning is a result of: / WW% YR, SiftrT fe=1 &1 ue ufvoma %:

1. Behavioral and Collaborative responses / 4dgRR Gﬁ? RNERINIEE qﬁlﬁ’_fﬂﬁ

2. Assimilation and Accommodation of structures / ST BT TSI 3R AT
3. Extrinsic and Intrinsic reinforcement / STE<T 3R 3fide ﬁ?m

4, Reward and Punishment of actions / Wﬁ BIYRDR 3ﬁ? 48

Correct Answer :-

« Assimilation and Accommodation of structures / SRS BT TS 3R MY

29) Which assessment measures student’s performance against a fixed set of predetermined standards? / aﬁqquﬁﬁﬂfﬁa

D! & U A A & favs o5 & Uexi< &1 Auare?
1. Norm-referenced assessment / W—Wﬁh 3

2. Criterion-referenced assessment /mwﬁiﬁ b

3. Diagnostic assessment/w 3

4. Achievement assessment / IUATRI BT HTHT

Correct Answer :-

« Criterion-referenced assessment / H :13'3—?3'% 3fihe



30) Radha asks her students to make their own questions and write their respective answers for a chapter. A student in which stage of cognitive

development benefits most from the implications of this task? / THT 3 BE G TP ﬁl'q il TP ™ A UY T 3R IOX el
IR foram & e #gT | Ua o, AT e & 59 @Rur & 39 o1 & fAfgard ¥ ga@ ¥ anunfRa gar 82

1. Sensory motor stage / Fadt HieR R

2. Concrete operational stage /ﬂjfﬂ'ﬁv_qm AR

3. Formal operational stage / 3M=ie Tfparad Srari
4. Preoperational stage /ij AT

Correct Answer :-

« Formal operational stage / 3M=Tie Tiharde srawi

Topic:- General Hindi (L1GH)

1) =T A ST FY geAT B, @ 98 Rk ve Wit wwpfa F yeafaa gl 8, wret e ok i siarifArd 8t e | ae ok Uy & Hey Y 9t o 38,
I il BT RER ey o 959 T 7, N SR A refiad fard 39 R URR, ), UgTs, US... 3w ¥ fibg orun siarfdl § § uw Sidd ufderen &1 R4, T
e B nfifer WS TEUr AR A B wwmﬁwmﬁeﬁmwﬁ%gﬂmm%mmﬁ ARURT B} WraT B 51 R, S g A
YRR, 3N HHT SGYRON & Tgad FHF YT? TT YRA BT HIg THT BT 8, SET IV, HETHRA 3R GRIFIG Y13 & Welts A7 B 3= Sita Pt arefan
TR # WeTas T8 gia? A Te Y@ # SHar g wafe Te Eue ® 3uR g BT caeliavul SR 8, @ g8 98l WHG g Tl 8, S8l e Bt 38 UR HEpfa
& Ffa-wua 3ifhd T80 §1 TRR B §d U DTS 3ad1, T4 T TR B 1 IS Whl, TETS W Fgd §¢ [l GRIIOP ar &t siqeh et U Uafe 8, f R #en
T@q Y &9 Ut Sita=-arn & dtd-aren # uioe o1 a9 #

3refta & 3=1 & ufa a8 WTaAT 3T 0 F off 3 W1 Apt R, Tl S-U9 BT e Ty TPl 3 WWRT B Wi | FoT NI g dRBIad! & e Ry #t
T1g 3T 8, R U U YfRp &1 U 3vA U {3 &) ugas gAman 8, ﬁwwﬁgﬁww%aﬁﬁvﬁwaﬁmmmﬁ% 3 TP 3ol aRE
FT TS 39 T gU &1 98 Rrad €1 "te s g1 & A1d g3 Hft-weft arom 3=1 & ufy e 3R Pgar HEY™ St 8 A & Whiy @
Hgdl § fb & felt oft Fua wR aruem 3y fovelt ofk 3w & =Y Sea T =7 @ 3rum 3w & sfaery @ feht gy sfoera § uikurd o argm, s $9R A, W
gt & gralf # o um1 wreg uffes & €, orua 31 wew IRMAT F AR F, A 37 3 ufRy w1 v ¥ unfiles simar o 3 B, R 54 fdere, ot
3Rfdg 3R iEht B yraATg ufaeafa gt gArs At €, Wt IR UG- W e YA &A1Y YRA-Y & ufa uwe @ A

S TN B UgHR A2 S Y ¥ $T SR TA1_q

UL ARGIa! I e &1 U 3u= i &1 et v ygde A 82
1. Frafar e

2. HINTIDBR

3. RAmemR

4. gfRpA

Correct Answer :-

2) 3R T i1t @t weAr B, @ 95 R te R Wl & ueafaa gl ], ool e ok wyfer siaff@pa @Y wdh | g ok Uy ¥ ey Ft aa o ore 38,
A il BT WRER ey off 959 T §, 9 SR A refidd s 3@ 7. URR, ), UgTs, US... N ¥ fibg orum siarfdel & § uw sidd ufderan &1 R4, T
e B Uit |G T80T HR Ad &l ugmmmmﬁ?mmm%sﬂmm%uﬁm% SRITRT BT WIaT P 7 fa, St g B
AR, MR FHIof SaurRon | ggd U U2 T YR BT IS TH ST 8, FeT IHTIV], HETHR 3R GRS FHtait F Uit A7 &1 3 Sfia= @t srefan
UM ¥ AeTaw 81 g2 Ufe U s F oidT gaN Ui U 'US’ | U S BT Yuelihvr T 8, oY U8 IEt AU 8 APl 8, gl Wiiid bt 3§ W TPl
& Ffa-wua 3ifrd 780 T TR B B U SIS a1, T4 T W B 1 PIS Whl, SIS W Fgd §U [t Ui ar &t siqdt U wafig 8, fo R wew
T@q §Y &9 Tt Sfta=-amn & did-aren o uiora oe a9 #

Srfta & 3T F Ul g WraT 3 A A oft 3t o wendlt <R, STeT 3u-3 7 Mo Wy g SR WURT 3 Wi | IST AT Y dReIawe! ot frew e it
TTg 3Tl 8, R U@ uT YR &1 U 3v9 U {3 &) ugas gAman €, ﬁwwﬁg&mw%aﬁﬁﬁwaﬁmmmﬁ% q TP yolle e
PT TS 39V e gu &1 a8 foraa €1 wﬁwﬁﬁ%ﬂa@mﬁ-mﬂmﬁéﬂ%uﬁ gﬂmaﬁ? FHedl Heqd gl § AfPp & ARiYy Wi
Pl § [ & foelt o Faa w= oo o1 el 3k A=1 & =1l wqer wrg | =1 € 3rum 3% & gfer ot bl g sfoer & ufvora e wigm, s $aR A, W
gduil & gt & fam o 21 gfwa & ) orum 3 'weR IR & Ik §, A S &1 Ui o1 v T nfifes simamw s 3 R, R g fadwre, At
3Rfdg ok et Ft uraaTd yfreafa g GArg it €, < I WHI-9HT W TEY UTEFAY F WY URA-YfY & Ul uwe @t o

ITfe TR Y TP H1 @ T U 7 ST qarsy|

URA: gUR T8 5w A & ufy srefiaar 7 3zmiw ot s faar

1. Gt-aret

2. ST

3. WP id

4, gpid

Correct Answer :-



A=Y 9 3T FY weAT B, o 98 Rk te Ut Tpfa W yewfad gt 8, wel W iR wyfar SiavifRpd 81 U | ASd 3R U & WdY FT a1 Y e I8, I
Al BT RER Hay Wt 9ga 1577 7, I SR A Srofiad e 39 §... TRR, T8, TS, US... omuw # fg oA sierfae # 3 uw Sidd ufdsrar #1 k4, UE e
Y Y1fHe YIS TE01 X A § | I§ T 7 HANT AT i AR TeT UPfa & 39 ety Iuwwun & Ul omra = SRIHIRT 6t HIa=T ot 51+ feran, it wg 31
YR, 3N GHIUT SEURON | Tgd FHF YT2 1 YRA BT BIE THT ST 8, 56T IV, AETHRA 3R GRS Y13 & weltd A B 3= Sita= Pt arefamm
T H WeTae A€ ea? Ul Ue s F oftar g sufe U U’ (U E1 T TN Bl €, @) U8 9 GHA 8 Geba 8, W6t Wi Bl 38 W Eph
& Ffa-ua 3ifrd T80 T TRR B BA U BS a1, T4 BT R B 8 IS Whl, SIS W Agd §U [ Ui ar &t siqdut U vafe 8, f R wen
T@q §Y &9 3Tt Sfta=-amn & did-arn o uiora oe ad #

et A =1 & Ul gg WraT oy I A oft & o el <ft, et 3wr-Uw BT TR Wy Wpfd SR W1 1 Wi & T 411 g8 daRSIaw! Bt e R At
TTg 3T 8, R T U YR &1 U3 U U {0 F1 s AT 8, 3R 39 0 § YfTpd 9 & IR § Wl $ 371 IR YHe T4 8, d UH old avg
1 seaTfars S oY gU 71 9% foraa €1 "wﬁwﬁﬁ%qﬁa@mﬁ-mﬂamﬁéw%uﬁnzﬂggmaﬁvmwaﬁ%ﬁ%ﬁﬁww
Pl § [ & foxlt o Pora w= orom o1 fnedt 3k A=1 & =1l wqer wrg | = € 3rum 3% & gfer ot bl g sfoera & uftora e wigm, s $aR A, W
gdeil & BTl & faam uTi” weg gfRp & €, Sruq 3 Hew IRMAT S IR §, Al I 3w ufRs &1 ue Vo uifiie amaw fewrd ¢ar €, Rred g faderg,
3Rfdg 3R niEht B yrgATg faeafta gt gArs At €, W IR THY-THT W e YR &A1Y YRA-HfY F ufa uwe B A

SR TN B UGHR A2 S Y ¥ BT SR IA1Sq
W IR & g frad aR # 72

1. YRd

2. 9c foes

3. SR

4. e IR

Correct Answer :-

« AR IRE

4) 30 A ST B geAT B, A 95 Rk T U e  vewfd )t B, el W ol e SinifRea 8 ud | wIw o Uy & W6y 3 a1a A oo W8,
I el BT R Ay W 9gd T8 &), Y HW A efiad fRwrs 3 7. URR, A, UsTs, Us... 3w ® fbg 3rum siafael #f 3 uep Sitdd ufderar &1 Mg, th
e I Ui AT TEU IR A § | T§ T HES HART AT i FAN T8t Upfd F 7 ety SuHv & ufa wma A JRHiRT Y wraen ot o famn, < g @t
AR, MR Faiof qurRon J ggd A U2 T YR BT HI$ VHT FIT 8, FET IWTA0], HTHRA 3R TRV FUteit & weltd 7ge &t 3= sfia= @t srfamm
R ¥ Here € §1a? S U yws & ofiar gon sufe Us " ud' § 309 8 T Weaafievur BT 8, df U 9l G 6 WebdT §, el Wi Bl 38 W Hwply
P TfI-RIe 3ifhd 38d & | TR D) Zd §T B8 e, 71 &1 Wl o3 € B Wi, UgTs R ggd g¢ fBd dRifdres amn Bt siadhyr 3@ uehug §, e W wen
T §U &9 U Sa-arn #Y dd-ar A ufvvra F3 a9 §)

Srefta & =1 & wfay a8 yrae 3y =i F o 3 o Tt R, ST -9 BT TR Teiy TPl SR WRT Wi A ST NI g IRBaws! B e AR #°t
T1g 3Tl 8, R U U YR &1 0 309 TP i $1 ugas 1T 8, 3R 39 U § YfRpd 9 & ai § Sl $B 371 SR YHe Fd 8, d U old aRe
31 seaTfars 39 fog gY &1 a8 foraa €1 "Wawaﬁ%méa@iﬁm-mﬂm%ma?uﬁneﬁggﬂmaﬁ?ﬂmumm%amﬁ?ﬁﬁuw
Hgal § 6 & feeht oft Fua wR orgen 3 fpedt oik 39 & A8 sea wgm 1 7 @ 3o 3w & gfoera @f fwht e sfoera § aikord wean wrg W, S g A, W
el & Tl # faur A" wreg YiRe & €, A 31 'HeR IRMAT F IR §, AP I I uiR #1 ve T il smuw g dan €, R g fdere, 4t
3R SR et P UaATE ufreaf~a gt GAr$ et €, S ITI WHY-THT W TR HIEFAY & [ HRA-Yf & ufa uwpe @t |

ITIT T B UGB A4 T T U= $T IR Fa1s¢!

WE: HRA-YI & ufa faere, i erfdq ofiv wieh &1 yrawn fhas a1y yee g8 &2
1. TEX WA

2. ST A8 °

3. OEyfa 9

4, Ggfod ey

Correct Answer :-

o TR YAy

5) MW TR 31T P geAT §, @ 98 R ve Wit Svpfa A yeafad g 8, el W ofv sy sianffRpd 8 Wb | Agea SR U] & WY B are oY Sren e,
I el BT WRER YaY W 954 T8 8, S HW W Sefiad fR@rs 3 7. IR, 98, UeTs, US... 3w ® fbq 3rum siax{del #f v Sidd ufderan &1 kg,
T P YTl IS Tg0 X A | g T HES WA AT 5 TN 5T Upha & $ e SUHRON F U @ A ARuiET B Hiae w1 5 o, Sy
AR, MR FHIF sraeon & gga fHe UT2 Fa1 HRA BT IS TH BT, ST51 IHRI0, AETHRA SR GRS Hutelt & Ud® 97 31 Su- sha o5t srdfawn
A § WeTae 8 ga? afd U YIS § Siar g aufed T & U # U g1 BT TIaieul Hdl €, ol T8 agl AU & Tebdl €, s8] Y B 3§ IR AEpia
F WIfA-WI 3ifrd 3gd &1 TR $ gd §U B aaT, A &1 Wl F3d € BIg Wi, Ugrs W gga gu fHl dRifdres amn &t siadbyr 3@ ueig 8, o W sen
WA §U &9 AU Sha=-ar &Y d-arn o ol 2 ad €1

orefia ® 31 & Ul g5 e g o=t A off SR o wenelt <ft, SiET 3-U BT TeRT Ty WRphA 3R Wt B WA A o7 411 G aRP I B e R
a1g 3Tt B, T T ur UfRe &7 0 30 TP A @1 UgaR G §, SR 39 U H e w9 & IR A O $O 30 STIR UHE B §, I U I6hid ae
&1 st Sy Rig gu ¥1 95 ford #1 "wﬁwﬁﬁ%#ﬁaﬁmﬁ-mﬁmmiﬁmﬁmwmwﬁ%ﬁﬁﬂﬁﬁﬁﬂw
Fgal § fo & fpelt oft Fhoa w aroem 31 vt ofiv 31 & =1 agerim argem 1 1 €t orum 3% & 3Rery o el g sfoeTar & uiora e argem, o SyR A, W
gduil & Tl & foam A" weg g & €, oA 31 'HeR IRMAT & IR #, Al I 3w ufd #1 ve U i smaw i@ dan €, R g fdere, it
3R SR TTeht P uraATd ufaeaf~a gt GArg it €, <Y I THY-9HT W TEY HIEFAY F WY HRA-Hf & ufd uwe @t off|
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TTq ITelt 8, RraH T U YT o1 0 309 U 1 Y Ugeh? ATl B, 3R 39 0 § UfRpH 0 & IR W ol $9 U1 SR UPHe HId ¢, 3 TP 3ol aig
F1 3T 39 e gu §1 a8 fRraa €1 "wﬁwﬁ%%#ﬁaﬁmﬁ-mﬁsmﬁ%m%uﬁngﬂggmaﬁ?mwaﬁ%ﬁﬁﬂﬁﬁﬁuw
Fedl § [ & fxlt o Bha wR oo =1 et 3R 3=1 | A qaT Trg | =1 € orum 3  sfery ot bl g sfoer # ufvora A argm, s SaR A, W
gl & grdl # faar ot 2 gffee & €, orum 3 Wew IR b AR §, A S 3w w1 v T it ermam feard 3 R, R g e,
3R 3R TTeht P uraATd ufaeaf~a g GArg it €, S I THY-THT W TEY HIEFAY F WY HRA-Hf & ufd uwe @t off|

IUY TN B UgHR Y ID T Y= BT Ik Ja5|

US: URR, 7141, UeTS, US 3rq= Siadet & o 9801 o3 od &2

1. 1fifer Taar

2. DI AT

3. o i el

4, T e

Correct Answer :-

. YIfHe FdeT

16)
T TSN TS &

T A 9 R § AT ap =

T 3R TR Y& ST §

e & o § R

FIordl § arear fiud &1 s
YTl § €8T gl TR

SR T BT @l g ST S8t | a1



T AT

5z &t wT a1E e 1 ard AR & WIed BT
TR YT SIS

IRAR IR TG R UD

TAIATE

1 S IR 3T SHHBTAT

TEI AV PO THAETE

AT PO T &

Tt wfa &1 w1

TS & e § gt o ot & g

S TH BT I UaHS B AT §

A A 1 7T WIS P AT §

319 g IUTY % 8 GRarel Wewersn

3R gt

FTTH I AW

Y 9gd & TR T

3T T T T T TET HPTH

MG TER A B TEaHT S A 3W B

o 7T =g o1 Ugwe TR U@ WM 91d 9 BT I Tarsy|
TR: TR IR TP TR WS 1 ) W S $fY 5w ave gaan 32
1. USRI gl

2. Al gofl

3. GHHBIAI gl

4. BT 3N

Correct Answer :-

17) 39 ¢ 94 AT |

STET 3l & T8 €& - Wbt

T YRR AT Y STl §

U & W § R R

Fiordl § darepar fiud &7 95
STl § 381 g IR

SR Tl &1 @l g ST et | 9
g1 AT g

5= gt Wt a1 foT T ATk Wiie & BIesd BT
R YT gehHfeTeT
IRANIRTE RAD

TASAE

1 31 W SR SHHBTAT

TET A FO TG

AT TO U@ ]

Tgt Wi &1 HAT ey

T g1 o & gt vs Wit & g
Y 99 BT T UaHS B AT §
Y ARG BT AT WIET H AT §
3@ g} I % &R qRaTen Wewersht
3R gt



w1 AL A W2

Y 9gd B4 & TR U

3T T UT-T TET 3T QT BT

MG TPR & DI T SR 4 36 3

T 7Y yeriwr #Y ygwR Y U@ WM a1d W=H BT @R gaisu|

URA: 31T T UTHT S8BT T QT BT’ F SR BiJ 4T SHIIG FHdl 82
1. SR DR T

2. TG UHR A B3 UgdM SHWR I TTHR

3. P13 30 R b UgAT S

4. PRITFIWRATRES S

Correct Answer :-

« S YHR A IS UgTHI HW J AT

18) ¥ 1Y S¥d g §

STET I 9 33 & -1 wh

T SRR AT Y& AT §

4T & W § R R

FreraT § arpdl diud &1 U
FIeTaT § 8T §3T &R

SR Tl &1 @l gt et @ 9T
LSRR e

= 3 Ao 1E 3T 1 a1 AR F BIed
TR YT SHHTEr

IIRAR IR RIS

TAIAE

1 g R T SHHABTAT
TEIAA PO TS

AT o U@

Tgi wfa &1 R T

& @ R & Rt ug ot & g

S T BT IAT TAS B AT §

A AT FT T WIS B AT §

IS T8} T b X gearen Wewerad

3R gt

TR A R?

Ay 9gd FH § TR T

3T T U TET 3T XQT DT

MG PR A HIE TgMT SR A 3G BT

T ¢ yeriy B vgHR AR R @A 9T U $1 3w 9q15u|
UL ‘T BT T Iass’ 3R 'SARG $T 7147 HIe! B dier | o1 i 82
1. SR H e

2. TEIA 91 e

3. GETaR &1 WA
4. WA A de

Correct Answer :-

« TSI aT1E deT



19) ¥9 7T qHd gaTh A

T I 9 @ § -7 ap=

B 3RIR IET Y AT §

e & o € R

Fiordl § arear fiud &1 98
GISTell § 8T §a R

3R T T @Il gh ST el A 918
ST AT R

5% &t wpT 1e e 1 9T AR & Wiewd &1
R 4T gHH T

IRATR NGRS

TAJATE

T W AR SHABTAI
TWIATTOTIw@I

AT PO T &

Tt wfa B1 w1y

TS & 7 § gt o ot & g

Y T BT I TaHS B AT §

Y ARG BT 79T WIS B AT §

IS et SUTY T T qeaTe Wewersit
3R gt

FTTH I AW

Y 9gd FH & TR T

ST I T ST 3T XET b1

TG THR A FI TgaH1 SW A 3@ AR
T T veriwr #Y ygw] T U@ WA 91a W= &7 Sk 9aTsu|
W= By F AiErs § ol RA = & 396 iy /g g?
1. 3 IAREE § 1

2. 3TUEA g

3. AR IS |

4. TS I G

Correct Answer :-

R EACICE]

20) T IHA 3ATS A

T A 9 W@ § -1 ap T

T 3RIR IET Y& AT §

e g o ¢ R

Fiordl § arear fiud &1 98
GISTell § 8T §o R

SR T BT @l g ST S8t | aTd
g g

5% &t wpT w1E e 1 9T AR & WIed BT
R 4T gHH T
IRARTRGRID

TAYATE

1 S UR 3T SHUBTAT

TR AT o TR



AT PO T

Tet wfa &1 w1

T & fa A gt v wirelt @ g

Y T BT T YIS P AT §

A <TG BT AT TS Bl AeT §

3 T SUH & & oRare We@erai

3R gt

RTTH I AW

Y 9gd FH & TR T

3T IS T T T TET HPTH

MG THR A B TEaHT S A 3W B

T T v #Y ygw} T U@ WA 91d W= &7 Sk 9aTsu|
TH: $Y TP W S 1 3 ORI F 7 a1 32
1. Hfa IO T ST &

2. ST A BIS e

3. T3 BT R e o &

4. 1A TG TR B T8 g6 Ul

Correct Answer :-

21) 9 C SHA g A

SI5T IS 99 T3 § - Ao

T 3R T Y& AT §

T & o § R e

Froran g arear fiud &1 0s
T § 36T g R

3R i &1 @reft ghsT Wel | a1
S AT R

{52 Gt wHT 1E e 31 9T AR & WIed BT
TR YT SIS

IRATR VGRS

TAGATE

1S WR 3T SHHBTAT

TR AV PO T

A PO T &

Tet wfa &1 w1

T & fa A gt v wirelt @ g

Y T BT T YIS P AT §

A <TG BT AT UTE) B AT §

39 I} IUTA 5 TR gRaT Wewersi

3R gt

RTTH I A W2

Y 950 $H & TR U

3T ST T T8 T TET HPTH

MG THR A B TEaHT S A 3W BT

AT T v #Y ygw} T U@ 91 91d W= &7 Sk gaTsu|
URH: Hiaar § S-S | RH R &1 Swiw far mar g
1. pad Mg 1 US



2. $ad dig B! fomT Trarel e
3. Had ¢ol g HHH
4. Sugad gt

Correct Answer :-

« Iuad ;ft

22) $9 YS9 SAF |

T AW 9 R § AT ap T

T 3RIR T Y& AT §

e & o § R

Fiordl § arear fiud &1 s
STl § €8T g TR

R T #1 @R gt Rl | 9T

g g

5z &t wT a1E e 1 9T AR & WIed BT
R 4T gHH T

IRAR IR RED

TAJATE

1 G W) 3T SHUBTAT

T AT PO T

AT PO T &

Tt wfa o1 w1

TS & e § it o ot & g

S T BT I UaHS B AT §

Y ARG BT 7497 WIS I AT §

IS TEt SuTd T T AT Wewersit

3R gt

FTTH I AW

Y 9gd FH & TR T

ST =TT UTH1 ST 317 TET ST

TG HR A FI TgaH1 SW A 3@ AR
T 7T yeri Y ugHT Y IR WA 9T U $T S« Iqrsel
UL $fY A 580 Siaar § 7T &) FHY B 3R ) s3I fhan @2
1L.TIRCaM & v d

2. Sed TR 7 e IR Mg WRE B
3. g8 AR b ST SR T

4, TR YW O & HROT

Correct Answer :-

. Tl R oM iR AgA @ReE e ¥

23) 9 9C qHd g A

5T IS 99 T3 § - A

T 3R TR Y& AT §

iR § oI § R

Froran § arear fiud &1 Us
T § 36T g R

3R T &1 @Teht g T Wl | AT



T AT

5z &t wT a1E e 1 ard AR & WIed BT
TR YT SIS

IRAR IR TG R UD

TAIATE

1 S WR 3T SHHBTAT

eI AV PO THAETE

AT PO T &

Tt wfa &1 w1

TS & e § gt o ot & g

S TH BT I UaHS B AT §

A =T BT AT TS Bl AT §

319 g IUTY % 8 GRarel Wewersn

3R gt

FTTH I AW

HHY 950 BH § TN U

3T T T T T TET HPTH

A TR T DI T6AMH SHW 4 36 I

T T veriwr B ygw} T U WA 91a W= &7 Sk 9aTsu|
WRH: ¢ 9 1P | P TT HA YT AT 82
1. T M UgaH e M)

2. P I Y AT |

3. B AR A TR

4. DA Pl fe=mym g 3

Correct Answer :-

- Fife /A UgaH e M
24) 9 TC TG g0 A

ET A 9 R § - ap

T 3R TR Y& ST §

e 2 W § R e

Fordl § arear fiud &1 98
GISTell § 8T §o R

SR T BT @l g ST 8T | a1g
ST AT R

52 &t wT 1E e 31 ard AR & WIewd BT
TR YT SHHTSTAT
IRAR IR GG R UD

TAIATE

1 S IR 3T SHHBTAT

TEI AV PO THAETE

AT o I &

Tet wfa &1 w1

T & fa A gt g wirelt @ g
Y T BT T IS Pl AT §
S ARG FT I HIGH P AT §
3 T SUN & & oRaTe We@erai
R gt



FIT 931 § 9T R?

Y 950 $H & TR U

3T 9T T T8 T TET HPTH

MG TPR & DI U5 S | 3@ B

T T weriw B ugey 1R R W1 9T U= BT I qa1sy
TH: T S SAIP § I91-3I9 T IET9 3T 32

1. 99 Y IS T

2. T AHH & o1 &

3. WGP I g

4. 7S IH g AN B

Correct Answer :-

« T AGHE T 9 g

25) 9 C 96 g A

8T I I Y2 § T WHH

T 3R T Y& WA §

T 3 W § R

FreraT § arear fiud &1 Us
ST § 281 g R

SR i &1 @reft ghT el | a1
g AT R

{52 &t wH™ a1E AT 1 a1 R & WIeSd BT
TR YT AT
INRAR TR GERAD

TAIME

1 G IR 3T SHHBTAT

ET I O TR

A PO T TR

Tet wfa &1 w1

T € e & gt v ot & g

Y 9= BT AT UqHS B AT §

A =T BT T UTEY B AT §

39 T8 ST b TR AT Wewerat
3R gt

TS F A W2

Y 9gd FH & TR T

3T 9T T T8 T TET HPTH

MG TPR A B3 TSI SHUR A 3 B
AT T veriRr Y yew} TR U 9 91d W= &1 Sk 9aTsu|
T 5 Bl § $19 3 {5 e 3 3k wba fear 82
1. T aRadE

2. G B HHI

3. SWH A A BIS TRN

4. OV 3R 3RIST dgdld

Correct Answer :-

. O 3R 3RS Faeld



26) 397 9 gAH A

T I 9 @ § -7 ap=

B 3RIR IET Y AT §

e & o € R

Fiordl § arear fiud &1 98
STl § €8T gl TR

3R T T @Il gh ST el A 918
ST AT R

5% &t wpT 1e e 1 a1 AR & Wied BT
R 4T gHH T
IRAR IR RED

TAJATE

T W AR SHABTAI
TWIATTOTIw@I

AT PO T &

Tt wfa B1 w1y

TS & 7 § gt o ot & g

Y T BT I TaHS B AT §

Y ARG BT 79T WIS B AT §

IS TEt Uty T T qeaTe Wewersit
3R gt

FTTH I AW

Y 9gd FH & TR T

ST I T ST 3T XET b1

TG THR A FI TgaH1 SW A 3@ AR
T T yeri Y UgHT Y U O 9T U $T S« Iqrsel
UL: G AT 916 AT T1aTe g & WBIe® BT 9R - a7 412
1. TRA

2. 3R

3. ggd sl

4. 9gasler

Correct Answer :-

27) 39 AT gD A

T A 9 W@ § -1 ap T

T 3RIR IET Y& AT §

e g o ¢ R

Fiordl § arear fiud &1 98
YTl § €8T g3 TR

3R T T Tl gh ST el A 918
ST AT R

5% &t wpT w1E e 1 9T AR & WIed BT
R 4T gHH T
IRAR IR RED

TA A

1 S UR 3T SHUBTAT

TR AT o TR



AA PO UC W T

Tet wfa &1 w1

TS & e & gt o et & g

Y TH BT I UaHS B AT §

S ARG T I HIGH P AT §

3 T SUN & & oRare We@erai

3R gt

RTTH I AW

Y 9gd FH & TR T

3T IS T T 3T TET HPTH

MG THR A B TEaMHT S A 3W BT

o T =g o1 vgeR TR U@ M 91d 9 3T IR Fargy|
WR: TG W T 97 3R $S U T@T1 8 gAY fraet w78 faan o w2
1. e

2. A&t

3. R &I

4. fFT BT

Correct Answer :-

28) 39 T 99 geH

SI5T IS 99 T3 § - Ao

T 3R T Y& AT §

T & o § R e

Froran § arear fiud &1 Us
T § 36T g R

SR i &1 @reft gpsT el | a1
S AT R

ftp< &t wT 1E e 31 9T AR & WIed BT
TR YT SIS

IRAR VGRS

TAGATE

1S WR T SHHBTAT

TRV PO T

A PO T &

Tet wfa &1 w1

T & fa A gt v wirelt @ g

Y T BT T YIS P AT §

A =T BT T UTEY B AT §

39 g} IUTA 5 TR gRaT Wewersi

3R gt

RTTH I A W2

Y 950 $H & TR U

3T ST T T8 T TET HPTH

MG THR A B TEaHT S A 3W B

AT T v #Y ygw} T U@ 91 91d W= &7 Sk gaTsu|
T=: 3fd W HII & IR FIT IUTA I T 82
1. T XA B WeWeH BT



2. AU A ST &1
3. B & BT
4, AN & TAT 4B BT

Correct Answer :-

. TR A B T B

29) T9 T I 3ATS A

T AW 9 R § AT ap T

B 3RIR IET Y& AT §

e & o § R

Fiordl § arear fiud &1 98
STl § €8T g TR

SR T BT @l g ST S8t | aTd

g g

5% &t wT w1E e 1 9T AR & WIed BT
R 4T gHH T
IRAR IR RED

TAJATE

1 G W) 3T SHUBTAT

T AT PO TG

AT PO T &

Tt wfa o1 w1

TS & e § it o ot & g

S T BT I TaHS B AT §

Y I BT 7T YIS BY AleT §

319 g8 IUTY % &R GRarell Wewersn
3R gt

FTTH I AW

Y 9gd FH & TR T

ST =TT UT1 ST 317 TET ST

TG HR A FI TgaH1 SW A 3@ AR
o T yerir o1 vgwe R U@ WM 91d Uk $T Sk garsy|
7= fiud & Us 3 a1 S TBTa 916 I 3R T Tl 82
1. SN

2. GBI g™

3. ARTgaMT R

4. gPT G R

Correct Answer :-

30) 39 C S g A

5T IS 99 T3 § - A

T 3R T Y& AT §

iR § oI § R

Froran § arear fiud &1 0s
T § 36T g R

3R T &1 @Teht g T Wl | AT



T AT

5% &t wpT 1E e 1 9T AR & WIed BT
TR YT SIS

IRAR IR TG RUD

TAIATE

1 S IR 3T SHHBTAT

T AT PO T

A PO T T &

Tt wfa &1 w1

TS & A § gt ug et & g

S T BT I UaHS B AT §

Y ARG BT 7T YIS BY AT §

319 g8 IUTY P &R GRarel Wewersn

3R gt

FTTH I AW

Y 9gd & TR T

3T T T ST T TET HPTH

MG TER A B TEaHT S A 3W B

o T =g o1 vgwe TR IR WM 91d U $T IR Fasy|
TH: oI 9, TP ot i3 & A girar bt g ot 32
1. Jofadt

2. QR
3. UHeH TR
4. BT

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y odliet afscr steieea wee G el gaad -

7 HiRAd AT 7 HRAd Feafad Ry: |
3refred fAeeded fA=ToT Ruawar ||

378, i e sl <fveleT e |
90T AR R TGl A=0T I8 ||

RY’ gera gaavefaAes 3fRed |



T

4.

Correct Answer :-

? et gfScar srdlged YR UGTahedsT AT -
7 $iRId FEIArAT 7 HiRad FEafad Ry |
31eiaed fATeaed =T Ruaedern ||
37eamTe, eTdct faeaT dhef QfeleT emdd |
90T JARIC Al hidT 0T It ||

AR IeET UefdTidg: vd safd|
) CT+3TRT:

H+3-F’i:
2. =2

(—[+3-]'|’ef|':
3. 2

CaT+37:

Correct Answer :-

J+3_T:
. e |

4.



URed afScdl Ueeed AgHH A -

AT SlelSElgl:  2je8  TH O IcAUCART  FHIGAUTIN  Tole Al
eAShadel| ded U 38T TUar A aRevEE: FEildiaded] 38
AT AANT Gl T AT IcodeT dTfeldcll| IR T e
deedT 3l 3TAfETY GRSl dF 9 TEAdHeEd  dfcedt
JIEdl  dael  HAEEEAA W Auld: FRER - fAfacalssad)
PRERIAAFT: 36t Freffaeaidegred go= ‘e surfas sifesraar)
del I UAWET JcaTl 37dl TEGdRf oflel: 37eiad| UV UARTHUSORTT:
HEOFHEART: UF HiEUG:, U T UUE:  JHAAl ¥y TdH  aY
TA-AIRA 3 3cRICIT  ALIA AR AMidecdedsiieded
FHERTUCHTAT | 31T JATETARAT-FEHaafAd: AgAfeIIE  grcdar |
YIH IRVl Aidielelodmgicd 3@l (oA faged:
Il giady e wanend deaserawder  fAEiRa: 3
dIUlsgAleAUE  Utdal|  ASARAEET  AOMAedH, 8l dARdET
UUTHAT ATl dal UIfehedeiar: qd $ed Uedld SiFH-shredIeeel
AHAUT Fdded:| dar AT THgIele edl ARCRIATASE  3Miesedrs]
TcAThAUTI | dIEHs] HaY  Uilhediel-Heddel-Alchdd d&d G UTdsar
T fagfoiar smiad) 3d:  AlieTeesgl: AR, aifdeerdcad o
facafasd: srerad|

SITeTdgIeIEd ATl THI-

l_shfnr-ﬁﬁm

,, T gy
Sradr

3.
, TS
Correct Answer :-

, A gy



eollent gfdcar areleed UL ﬂagfaqwt‘m TIId -

o DRI FEI AT o DRI P RY: |
37efaeq fAseasd fA=for Ruaeden ||
37earre; e faer shof <fieleT erdid |

01T TR T SIGT =0T I ||

AT T ad |

Correct Answer :-

4



gelloh! Ufscar srenfafesesy veaTey gsqa;cdi qead -

GIEATSTT o gTeelt A IE AATH e |
AN TE ged AT FHTEATs T eI ||

3EIGICHATCHT ACHATTATAG |

37T EATCHAT 9 3TcHd RUUcH: ||

3ol AT 363 |

IRRCIEED L
2.

3 CIEEIORIETN R

4. ~

Correct Answer :-



TReSe Ifdcal UeTed YgHcH FIdd -

HEDAG PTG HIATARIATOT: VYT | PTG FeFcrd:

Holla: HIPR: TF QT 3URAd: 39 #AMd| I HeoEecd AFTURRET
TA dca IaTomamtt fecd FIfderaeg Jed| 31T HiaaEAre 5 T
EASIeHAT Teichcidle] h d el TITAT cATAAN $fd T fAfRad =
AR | STAGTeNT: qUciccadlaven: ¥ Ufess] fawd faffieara #arfe
URIfeT | AT TEHAT ATATA I, I ICAAHAGIRT eI | Frferard
Uq AR ey Hdfcad TER UG T Alch “3feraf-encpocerd”
STIAC | PIAGAET IO AT T | & Faremiderarn
UTAeTT, TRl #TSIT, SHICIURIEhcdT ear T Fremfa IRdar)|
PIGRET UMM et Afed| Prideraed ghfdauiaagasd] T
HIIAR oTrar: faRreT:, TeIshRICT: MeATLR: F T STRIAT:| 3TAT
ifeicraeg faferser| g gerar g3+ Feaqol areFgahasiel T ScpscTl
3T FAT AT GHeq-AI-TAAYU 57 Ifdemid| eamid Hiaw:
TIYLT:LNNOT & chael R 3T T THAET TAR S|




UREdE afScdl U AGHcR FAAT -

HERETEc HIfelarg: HIARRIATT: 70ad| Hifdeaed gadad:

Tairg: W:WE‘I}H: B'Cl'ﬁfilﬂ':gaﬂﬁl ZIF[HI?WT%F& AFTURIET
AT dea aomEmntt aifecd afeered IRd| 3 Siaame 6 e
TASAHAT Teleheidlel o d el TIHTTAT gAITAA™ 5fd T ARed &
AR | STTgMEPRT: qdccadavel: T TdATea= e fafdieaia el
URAfed | UMY TEEAT ATHIA Id, I I[eaAHIhIe | Pricigra
U9 AN Aiigcd Fafcad TR TG T Alcen “3iTETale-emhe oot
ST PRI HAcTIOM: IFqUIaT: Tled | T Faremiawrar
e, TTSTAT ST, VATCIURIERAAT AedT T Hredl=l Irdar|
FIfGEET GHTUT G Afed | Fifeered Fpldaviaagadl avd
I #1aT: fARICT:, HISPRIGT: AR o T $TReIT:| I
Fifercraey fafRIser| 3R verT a3 FAqer arFrgahaslel T Scpver|
3T [AT HiAAT FHeG-AYR-TIHNAGON 3T Afdsmid| e Hfakw:
TYRANT o hael R T J FAET FER SHafd|

AV AT Ye T FdART-



URed afScdl Ueeed AgHH A -

AT SlelSElgl:  2je8  TH O IcAUCART  FHIGAUTIN  Tole Al
eAShadel| ded U 38T TUar A aRevEE: FEildiaded] 38
AT AANT Gl T AT IcodeT dTfeldcll| IR T e
deedT 3l 3TAfETY GRSl dF 9 TEAdHeEd  dfcedt
JIEdl  dael  HAEEEAA U HIEd:  FRER fAfacalssad)
PRERIAAFT: 36t Freffaeaidegred go= ‘e surfas sifesraar)
del I UAWET JcaTl 37dl TEGdRf oflel: 37eiad| UV UARTHUSORTT:
HEOFHEART: UF HiEUG:, U T UUE:  JHAAl ¥y TdH  aY
TA-AIRA 3 3cRICIT  ALIA AR AMidecdedsiieded
FHERTUCHTAT | 31T JATETARAT-FEHaafAd: AgAfeIIE  grcdar |
YIH IRVl Aidielelodmgicd 3@l (oA faged:
Il giady e wanend deaserawder  fAEiRa: 3
dIUlsgAleAUE  Utdal|  ASARAEET  AOMAedH, 8l dARdET
UUTHAT ATl dal UIfehedeiar: qd $ed Uedld SiFH-shredIeeel
AHAUT Fdded:| dar AT THgIele edl ARCRIATASE  3Miesedrs]
TcAThAUTI | dIEHs] HaY  Uilhediel-Heddel-Alchdd d&d G UTdsar
T fagfoiar smiad) 3d:  AlieTeesgl: AR, aifdeerdcad o
facafasd: srerad|

3T gfcaaert f&ercan ATTIEIG 3T TeToT
HATCAdTA-

-



veliehl gfSear refafévesa Teaed qgecal Yaad -

eTEATSTT o greel A IE FHATH e |
T TE g AT FHTEA T oTe: ||

3EGTHATCHTS AlcHTTHIAG I |

AT EFTCH=AT 9 3TcHd ROUcA=: ||

Ud UhReh: o10: FHGEA: o #afd |
BR:E DRI

§ EB'FQT:

| GHTE:

Rk

Correct Answer :-

. Jecta:



URede afdcar Jeaed YgdHca FaId -

HERAIGc HlTelard: HIARRIATT: T0Ad| HifdeEEd Forad:

Holld: APR: TT Td: 3URAC: 39 Afd| Id PR AFTET
AT e IMaroramtt dfecd Fifoeraed Rd| 3T wigae & T
FASIeHeAT eihcidlel o d el TIVAT cAIdaA™ 5fd T ARad =
AR | STAEART: YUIdccadravel: o Tieas] v faffieata aarfa
URAfCT | TUMT SgEAd ATHAA Id T ICaAHCIHIel 3HeTacd| FHifelard
Uq AR @ifecd Fdfcad @ER Ui o sl “3iferar-Abederd”
ST | HIAGTET Hidcad[o: HUART: Tt | T Fareiderar
ufdeTaT, TIETAT ST, VAICIURIERdaT IedT T Hredn= Idar|
PGS YT G Aled | PRI Thfdaoi-agdsd| T
HIIARY &TTaT: faRreT:, HSPRIGT: MATTLRN: o J STReIdT: | 3TAT
Fifeicraed fAfRISeT| 3T UarT Ig FAqer arFrgaheislel T Scpser
3T HAT AT FHeG-ALR-TATYUN 57 FfAsqfd| ey Hiaw:
TIYLM:LRROT & Shael R 3T J TAET TAR SHafd|

1. -

HT AT,

2. 2
3. A
4, S5

Correct Answer :-

BEECEICIS LT

2. E\-a ¢ -

| AGUICTHSH,

tlg'bLIIC\ICHGhJ-L

4



Correct Answer :-

tl(:lgbqldlrd-lchd-lﬁ

2
3oleh HTH:
1.
e dcge

399¢ dcYeY:

4.

Correct Answer :-
3ol {ATE:



vellent afscar sraifafisera Teaed AgeHca] Faad -

eTEANS T o qTEel A IE AATH e |
A TET & d AT FHATEn sy g1d: ||

3EGTCHATCHT ATCHTTHTAGA |

3TTcHT ETTCHAT 9 3TcHd RUcH: ||

43
4. 23

Correct Answer :-

33



uR=de afScdl Ut gHcc Faad -

TERAAIGY PITAGHT: HIATRARIHATT: AT | HITIGRET FeFld:
ifafeaarom: 3T Agom FOIY HeA IRT YdTedfed | dTfel: TrTr 'l
Folld: HPR: T Wd: 3URAT: 39 #fd| I ey dFadiass
A ded MaTuantt Jifgcd Sifderaey JAed| 31T Hiaaae & e
EGSAHAT JHelhcldl=l & d el TTHNIT AT 3fd  AfRad
AR | STAETERNT: qUdccaeavaT:  vareAd, fawdr faffeenfer sarfa
IRATed | TUMY SgEAd ATHAD, I T ICaAH IRl HHad| Hifeard
T R AMfgcd efcadd TER IRAE T =Alesh “3iferafid-Mepedord’
SITIT | P Hidcad]om: Faviiar: dled| T Farenfaaan
UTeTar, TelT ST, wmmﬁ‘qa—cm AT T HreATfa Idar
aﬂﬁamtrmﬁma‘rawﬁﬁ| PIAGRAET Ypfdauiasgad] &g
HIAAR o7TaT: faRICT:, ISP RICT: MeATTLR: F T TRAT: | 3TAT
ifelereea faferser| 36T garer g+ gefaqol arraamhaRlell T ScpeT|
3T |l DAl FHwG-AYT-TIHNAGON 39 Afdsnid| e S
TIGLT:RRROT o7 Shdel 8IRA 3T J FAEd TEAR SAiafc|

3T 3P RET UAET Sifclerd: @fase: 31fEa-



eellehl gfScar 3felleed o=l U fddhedsd Faad -
7 $iRId FEIAf-HAT 7 R Feafad RY: |
37efaed fereaed fA=1or Ruaedern ||
37egTae, e facam dhef el 9 |
01T AR a1 ShidY A30T I ||

3#ITETT UNT I |

2. Het:
a. STt



URed afScdl Ueeed AgHH A -

AT SlelSElgl:  2je8  TH O IcAUCART  FHIGAUTIN  Tole Al
eAShadel| ded U 38T TUar A aRevEE: FEildiaded] 38
AT AANT Gl T AT IcodeT dTfeldcll| IR T e
deedT 3l 3TAfETY GRSl dF 9 TEAdHeEd  dfcedt
JIEdl  dalel  HAEEEAA U HIEld:  FRER - fAfacalssad)
PRERIAAFT: 36t Freffaeaidegred go= ‘e surfas sifesraar)
del I UAWET JcaTl 37dl TEGdRf oflel: 37eiad| UV UARTHUSORTT:
HEOFHEART: UF HiEUG:, U T UUE:  JHAAl ¥y TdH  aY
TA-AIRA 3 3cRICIT  ALIA AR AMidecdedsiieded
FHERTUCHTAT | 31T JATETARAT-FEHaafAd: AgAfeIIE  grcdar |
YIH IRVl Aidielelodmgicd 3@l (oA faged:
Il giady e wanend deaserawder  fAEiRa: 3
dIUlsgAleAUE  Utdal|  ASARAEET  AOMAedH, 8l dARdET
UUTHAT ATl dal UIfehedeiar: qd $ed Uedld SiFH-shredIeeel
AHAUT Fdded:| dar AT THgIele edl ARCRIATASE  3Miesedrs]
TcAThAUTI | dIEHs] HaY  Uilhediel-Heddel-Alchdd d&d G UTdsar
T fagfoiar smiad) 3d:  AlieTeesgl: AR, aifdeerdcad o
facafasd: srerad|

STeISEIgY: 379 "Ml Scguifel ureddrei-
| AelealiaRatacarer
,, Tergfarafaczea
, PUNEshiaRategTess
, Freffeeataeames

Correct Answer :-

. Frehfeeataared
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eellehl gfScar 3felleed o=l U fddhedsd Faad -
7 $iRId FEIAf-HAT 7 R Feafad RY: |
3iaeq Aeeaed fA=1or Ruaedarn ||
378aTE, it fae T el Qfrelet aRid |
90T AR T SIGT 3307 I ||

st Ry Faed |

| 3



s afecar el el Jaad -

HEREIEc HIfearg: HIGRRIATT: 70ad| Hifderaed gFdd:

gairg: W:Wl}l}ﬁ': B'Clﬁilﬂ':ga'ﬂﬁl ?ZIF[__3TI?T~|'\‘:|T%P} AFTIRET
A dea IMaomEmnt aifecd Ffveey JARd| 3 Siaame 6 e
EqSAHAT Telehiale] o d el TIHTTAT gAITATAM 3fd T AR o
A | STAETHRRT: YUIcTecasIaven: T UdieHa faw fafdieartar A
URATed | JUNT TEEAT ATHIA I, I I[CaAH IRl A Piieigra
T AR Tfecd Adfcad TER TS T Alch “3ferat-enshederd”
ST | PRI HAcTIOM: U Aled | T Faremiawar
T, TTEAT $ITYAT, THICIUEIFRAAT AedT T A=l IATare ]|
HIfETEET AT e dfed| Hifceraed ThfdauarAgddl de
RIIATG &1aT: fARACT:, HISPRIGT: AR o T STRSICAT:| I
Fifereraey fafrser) 3T gerar a3 JeAaqot araFehasiel T 3cpeT|
3T |1 HIAAT FHwG-AYI-TIANTION $9 afdsmid| e Hiarw:
TIYRM:QRNOT o shael IR 3T T FHEd TER SHafd|

AY AT foreT: 3rAfEa-



URed afScdl Ueeed AgHH A -

AT SlelSElgl:  2je8  TH O IcAUCART  FHIGAUTIN  Tole Al
eAShadel| ded U 38T TUar A aRevEE: FEildiaded] 38
AT AANT Gl T AT IcodeT dTfeldcll| IR T e
deedT 3l 3TAfETY GRSl dF 9 TEAdHeEd  dfcedt
JIEdl  dael  HAEEEAA U HIEd:  FRER fAfacalssad)
PRERIAAFT: 36t Freffaeaidegred go= ‘e surfas sifesraar)
del I UAWET JcaTl 37dl TEGdRf oflel: 37eiad| UV UARTHUSORTT:
HEOFHEART: UF HiEUG:, U T UUE:  JHAAl ¥y TdH  aY
TA-AIRA 3 3cRICIT  ALIA AR AMidecdedsiieded
FHERTUCHTAT | 31T JATETARAT-FEHaafAd: AgAfeIIE  grcdar |
YIH IRVl Aidielelodmgicd 3@l (oA faged:
Il giady e wanend deaserawder  fAEiRa: 3
dIUlsgAleAUE  Utdal|  ASARAEET  AOMAedH, 8l dARdET
UUTHAT ATl dal UIfehedeiar: qd $ed Uedld SiFH-shredIeeel
AHAUT Fdded:| dar AT THgIele edl ARCRIATASE  3Miesedrs]
TcAThAUTI | dIEHs] HaY  Uilhediel-Heddel-Alchdd d&d G UTdsar
T fagfoiar smiad) 3d:  AlieTeesgl: AR, aifdeerdcad o
facafasd: srerad|

JcATehATH- Scdd AlrITdsToleld Td sTafd-

| TTEH+THUH,

2. Tl +3ThHAUTH.

; ST+ 3ehauTa
. Rfa+HTHAUH

Correct Answer :-
g+ HTHHUH



URed afScdl Ueeed AgHH A -

AT SlelSElgl:  2je8  TH O IcAUCART  FHIGAUTIN  Tole Al
eAShadel| ded U 38T TUar A aRevEE: FEildiaded] 38
AT AANT Gl T AT IcodeT dTfeldcll| IR T e
deedT 3l 3TAfETY GRSl dF 9 TEAdHeEd  dfcedt
JIEdl  dael  HAEEEAA U HIEd:  FRER fAfacalssad)
PRERIAAFT: 36t Freffaeaidegred go= ‘e surfas sifesraar)
del I UAWET JcaTl 37dl TEGdRf oflel: 37eiad| UV UARTHUSORTT:
HEOFHEART: UF HiEUG:, U T UUE:  JHAAl ¥y TdH  aY
TA-AIRA 3 3cRICIT  ALIA AR AMidecdedsiieded
FHERTUCHTAT | 31T JATETARAT-FEHaafAd: AgAfeIIE  grcdar |
YIH IRVl Aidielelodmgicd 3@l (oA faged:
Il giady e wanend deaserawder  fAEiRa: 3
dIUlsgAleAUE  Utdal|  ASARAEET  AOMAedH, 8l dARdET
UUTHAT ATl dal UIfehedeiar: qd $ed Uedld SiFH-shredIeeel
AHAUT Fdded:| dar AT THgIele edl ARCRIATASE  3Miesedrs]
TcAThAUTI | dIEHs] HaY  Uilhediel-Heddel-Alchdd d&d G UTdsar
T fagfoiar smiad) 3d:  AlieTeesgl: AR, aifdeerdcad o
facafasd: srerad|

TAY 3RF T e FEE ARI-

7Rl e TAuGH R
feaT=AT

1.



3. ~
dYH
4, 2 -

.tf_t;ﬁ:

*® ol Ufscar reNfAfesesT Ul EH A -

eqEATSTT o qrEl A1 I8 AATY feore: |
T TE ged ATEd HHATEATs T gZet: ||

3EGIHATCHTS AlcHTTHATAG A |

3T EFTCHAT S 3TcHa U ||

AATE TEI: gew: 3AEY: siafd |
. AT
y E,:{'FQT:
N e
. AT

Correct Answer :-

] HATEY:



ool afscar srenfafevery geaed Yeacal A -

eIEATSTY o7 gqel AT IE HATY eere: |
A TE Ted AT T gZa: ||

3EGTHATHTS ATcHTTHIAIG I |

AT EATCHAT S 3TcHd RUcAa: ||

‘cHT’ AT Giewr: dafdl

30)

S81d” 3T muaﬁgbﬁ‘lchduﬂwﬂ HAET-
JHIA

1. S
dHd

2. o
dHJ:

;. ™2

a'ajj%far

4.

Correct Answer :-

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /

TS T3 A Tl a7 B S1gHT 50,000 8 (Hz) 31 98 A1 F a0 8:
1. 5kHz / 5 fpaedd

2.50kHz / 50 fraiges

3. 500kHz / 500 fraigest



4. 5000kHz / 5000 fFargest
Correct Answer :-

. 50kHz / 50 fFaEds

The following are the pH values of some commonly known solutions:

Substance. pH value.
Acid rain 3.6
Gastric juice. 1.0
Lemon juice 25
Tomato juice 4.1

‘Which one of them is the most acidic? /
frafaf@d #o wa o & pH A4 &

EHER g AT
3Fer aut 56

AR ™ 1.0
;ﬁg\wq—a 25

THER & T 4.1

5 ¥ Fla-ar gawr 39w s 82

1. Acid rain / 3% IO

2. Lemon juice /:ﬁqﬁw

3. Gastric juice / THIRII IH
4. Tomato juice / CHICR HT

Correct Answer :-

o Gastric juice / STHRI X

The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

f&ar mar gi-wwg e ve Wl dsF & A A AR 95 X SR v F A #w+
zoffar &1 T=fafaa & & #laar sua 7aa &

distance
Y

time

1. X takes more time than Y to cover a particular distance. /

AT @ R T HA S U X B Y I 3ifie T gl
2. 'Y takes more time than X to cover a particular distance. /

s AT @ T s & ey &1 X ¥ 3ifie T gl
3. Bike X covers more distance than Y. /

T3P X, 9135 Y P 30a 3ifis g T A 71
4. Bike X moves faster than the Bike Y. /

13 X, S8 Y B 30 3ffep Ao 21
Correct Answer :-

« X takes more time than Y to cover a particular distance. /

AT @ R T HA S R X B Y I 3ifie T gl

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the position of crane is: /

STl @ m forow e (a)_'{), UTqU Wide (phyto planktons), T30 3R wTet %} o ot fRufa fa"ﬁ-



1. I trophic level / 1 Q¥ dl Wk
2. II trophic level / 11 Qi TR

3. III trophic level / III Gif¥ehal &R
4. 1V trophic level / IV uﬁw TR

Correct Answer :-

« 1V trophic level / IV QifYhdl TR

5) To teach diverse, difficult to understand concepts in science, a blend of text, audio, animation, video, still images or

interactivity content forms can be used. This method is known as: /ﬁ?lﬁ ﬁﬁ'ﬁ?{, '\‘l'l:l'ﬁlﬁ A »fa sr@urunai &
T & forg, ewe, Siifeal, TfaeE, difsar, R ofaal & fayor ar srarforaritearn fawg-avg i &1 g
forar o 9ar 81 39 fAfr &) serwmar 8:

1. Information and technology communication enabled learning / Jd-T 3R et TaR Ted e
2. Multimedia approach /u?cﬁtﬁ%m?:@aﬁm

3. Documented problem solving / TR THST-gHTY

4, Video clips / Tﬁ%'cﬁ fa\m

Correct Answer :-

« Multimedia approach / AeetHifsar eI

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius of curvature of the mirror will be: /
g ¥ TP 39 T B 197G GETE (focal length) 15 A 81 5ia 3 U & amam wirar &, gUor & agpar @ Hrear gR:
1.30 cm/ 30 I

2.7.5cm /7.5 9

3.45 cm / 45 4

4.15cm/ 15 9

Correct Answer :-

« 30 cm/ 30 9t

7) Lightning conductor is a device used: /
ATSd IS (@i HSTR) TH IUSRVI $T §EAAT foaT ST 3:
1. To protect the buildings from the effect of lightning /
SHRGI P! dfed & UHTE ¥ g9 & forg
2. For communication purposes /
BERRIEEICARIY
3. For forecasting the forth coming lightning and thunder /
et afEe IR TReR (U SR) &1 gatgHH @A & ferg
4. To store the electric charges produced at the time of lighnting /
fed & Trg Ianfed fagga snawh & Gufed &7 & forw
Correct Answer :-

« To protect the buildings from the effect of lightning /

ARG &I dfSd & UHE I s & forg

8) Which of the following contains more roughage? /

ﬁ"}lﬁl@ﬁ A fopa# 3rfire HieT aRT (roughage) ﬁl’%ﬁ sﬁ?n %?
1. Fish / #eait



2. Milk /gy
3. Leafy vegetables / TRiGR Jfosat
4. Meat /IIWW

Correct Answer :-

« Leafy vegetables / TRIGR Jfesrar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands on them because: /
AG B UTg S W R APS! Bt A B g1 H P ST HEHH g3 o9 I 3HUA g1 DI IH W 3@ HlfP:
1. Wood conducts more heat energy than metal plate. /
ABEY, YT b @i B I A 3HRIcs ST FHolf bl Fare Bl B
2. Her body temperature is less than the temperature of the wood and greater than that of the metal plate. /
IYH IR HT AHH THS! F dIAM I HH R 41 & We F 34w 3|
3. Wood is more hotter than a metal plate. /
D], UTd B! Qe b qar § A 7 gt 31
4, Metal plate conducts more heat energy than wood. /

4T & Wie, Adhal Bt gaqT H s ST FHeil b1 Yare a8

Correct Answer :-
« Metal plate conducts more heat energy than wood. /

4T & Wie, ddhal Bt gaql H e ST FHel b1 Fare axal 3

10) Proteins that regulate all chemical reactions of the body are: /
WA ot RR 5t |t At siffparsit #) Frafa #3a 8
1. Blood / X

2. Lymph BT

3. Hormones/%ﬁ

4. Enzymes AR

Correct Answer :-

. Enzymes/w

11) Which of the following motivates a learner to learn? | fraferfea # 9 ®=-ar siftrm %ﬁi%nz Th Rremdf &t
A Hear g2

1. Interest in the topic ) fawa o B
2. Repay / A9 & (RD)

3. Lots of homework / 3/@iY® W
4. Easy questions / 3T Hdlcl

Correct Answer :-

« Interest in the topic / fao & Bf

12) Kelvin is the unit of: /
1. Pressure / G814
2. Temperature / ATIHTA

3. Heat / $®HT



4. Humidity / 3T&dT

Correct Answer :-

o Temperature / dTHIT

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning of the vehicle.

Which one of the following acids is used in such Batteries? /

SATETETSd a8 & ST & e fagga Sut #t smgfd w1 F g il @a $1 yraem &1 yahT w3 2
T UPR & 9cal # A9 & F S19-97 30 BT WaRT fHar sirar 82

1. Phosphoric acid / IR 3

2. Acetic acid / QﬁlﬁE 3T

3. Hydrochloric acid / SIS IaaN &7
4. Sulphuric acid / ﬂ?@{ﬁ_fﬁ 3

Correct Answer :-

« Sulphuric acid / W ST

14) Choose the incorrect statement among the following. /
Frufafea # & o oY= &1 9a3 F¥)
1. Metals are electropositive in nature. /
g TP H farqgd oo A &
2. Metals are sonorous in nature. /
o1 Uepfa B ea1fies St B
3. Metals reacts with dil. acids to produce hydrogen gas. /
BIZSISH T BT ITG R P [od UTE a3 P A1y S1ffehar et § 1
4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /
S YTq 3ieRfioH P A1y Sififehar et §, a9 sz s o1 FAufor giar 8 1 R’ Hid &1 o1 feterw amat 8t S g
Correct Answer :-

« The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

T YTq SfTaRitoM & Try Siffohar FHRelt §, a9 sags o1 FAufor giar 8 | o id &1 &1 fererw @ Y ST 8|

15) Identify a non-metal which has metallic lustre: /
I UTg Bt Uga B, o i T0e A ?:
1. Phosphorous / BRBRY

2. Todine / TS

3. Sodium / SNSTH

4. Sulphur / Hethy

Correct Answer :-

« Todine / 3G

16) The device fitted with an automobile to show the distance travelled by it is called: /
T8 ERT ATAT B T3 g8t Bt g1 F g oy o1 #1 five faran wman 2, 3@ we1wmar 3:
1. Speedometer / e

2. Odometer / TSI

3. Lactometer / Qg IHIEY



4. Hydrometer / EE@Iﬁ?T
Correct Answer :-

« Odometer / 3NSITHR

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and the other is concave. If the two lenses are kept in
contact, then what is the focal length of this combination?

3 A A A vde F uTaR T RHATT 2D B 1 A B J UH I ¢ 3R ORI faad g1 e S AT Y Wud H T Wk €, 39 W
B! Blod AT fea- 82

1. Infinite / 3d
2. Zero / ][I
3.4

4.2

Correct Answer :-

« Infinite / 3Fd

18) The credit of green revolution in our country goes to: /

TR 3 A g wifd $T 49 S §:

1. Dr. V. Kurien / ST. 9. Eff\rq:l

2. Dr. H.G. Khorana / SI. Qﬂﬁﬁ GRMT

3. Dr. M.S. Swaminathan / S1. TH. QY. AT
4. Arya Bhatta / 3t Yy

Correct Answer :-

« Dr. M.S. Swaminathan / SI. TH.TY. AT

19) The magnetic effect of electric current was first observed by: /
fagga YT & gaata wHT B TduH 3% g1 Hfera faar war
1. Andrew Ampere / ng@:ﬁq?

2. Alessandro Volta / Qﬁ@@ Gl

3. Hans Christian Oersted / %TH m’cﬁ &h@‘@r

4. Michael Faraday / HIRH T RIS

Correct Answer :-

« Hans Christian Oersted / %7\‘:[ forfarm 3RS

20) The strength of the sea breeze depends on: /

T a1 ) yEEar 39 R R w8

1. The temperature difference between the land and the ocean / 'leﬁ-f 3R T & YA & &g & IR W
2. The direction at which it blows / $8 S8 &1 fGRT R

3. The level difference between the ocean and land / HHg 3R ’;[&[ & TR P g b AR W

4. Amount of water vapor present in the atmosphere / dTdTaRUl k| ﬁrqa STAATST 1 AR TR

Correct Answer :-

« The temperature difference between the land and the ocean / 'ﬁ[&f 3R % & dIHH & o1F & R W

21) The power of earthquake is expressed in terms of : /

Yy Pt et B e Bt STl @



1. Kelvin scale / e Whdl
2. Celsius scale / AT Tha
3. Richter scale / R Wrd

4. Romer scale / JFR TWhdl

Correct Answer :-

« Richter scale / Rae @hd

22) An electrical cell has: /

T fAgga da A g4 &

1. Three terminals / 19 efH=a

2. Only one terminal / A U crH—d
3. No terminals / aﬁ‘s‘ Efﬁ:m' H%‘T

4. Two terminals / & ST

Correct Answer :-

« Two terminals / Eﬁ cffa

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the element. /
TS ad "X ® 4 T 3R 3 Wiel= &1 9 & Tt WaIeIdhdl 31 Ugar B3|

1.4

2.3

3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

T faww g

1. Air /gdl

2. Mixture of sugar in water / Ut H 1R &1 Ao
3. Mixture of oil in water / U1 & at &7 fArgor

4. Cold drinks / 1 U

Correct Answer :-

« Mixture of oil in water / U & O &7 fH8for

25) When the force is doubled and the area is halved, then the pressure will: /

W g6 QI R o SI1an @ 3R e S R faan wirar €, ot g

1. Be doubled / GRIAT &1 IR

2. Become one fourth of its original value / 3 aRAfd® HH BT Th ?ﬁ?-IT'Ef Epf SRR
3. Become four times its original value / 3T IRATAP A BT IR RIGII Eﬁ SR
4.Be halved / e 81 ST

Correct Answer :-

« Become four times its original value / 3T IRAAP A BT IR RIGII Eﬁ SR



When a paste of starch is added to boiling water, the type of system formed is: /

4 HS (starch) BT TS UE ITT U H ST 14T 3, A T a1l YOUITedt &1 USR8
1. Colloidal solution / PIATg S fdeTd

2. Suspension / fAde

3. True solution / ARdd faerd

4. Dilute solution / ?‘HW

Correct Answer :-

« Colloidal solution / PIATZSd fada

27) When carbon dioxide is dissolved in water, the solution turns ./
q Praq sTgiRgs Ut A gaoirar e, @i fdead . seaardl

1. red litmus to blue / AT feeHy &I Hia &

2. blue litmus to red / ial fefleqw &1 ara &

3. no change in the colour of litmus / Rerg s d aﬁé gfkadq 7‘|_E?f

4. into a yellow colour with methyl orange / ORI 3RS & w1y dia w1 o

Correct Answer :-

+ blue litmus to red / F1a folewg &) o |

28) Which one of the following is the appropriate unit which is used to measure the volume of Refined oil taken in a container? /
frafafEd & & S1-91 Sug 3618 & RrreT 161 ue ura A ufivsgpd da $1 7 &) 7raa & e fear srar 82

1. Kilogram / ey

2. Nanometre / F e

3.gm/L/TH /R

4. Litre / WX

Correct Answer :-

« Litre /Tl

29) Which of the following is not a shell fish? /

Frafif@d & @ S19-91 Saaurs) T (shell fish) 781 &2
1. Crabs and bobsters / m IR siar

2. Mrigals / HITTeT

3. Oysters / 31\'13??

4. Octopus / STy

Correct Answer :-

» Mrigals / HTd

30) Which of the following is an example for diffusion of a solid into liquid ? /
Frafafea ¥ & $H-91 319 31 ava & THR 3T TP a6 32

1. Ink into water / UT1 & 1@

2. Carbon dioxide into water / U=}  HTe STgATRITES

3. Oxygen in water / T & 3o

4. Copper sulphate into water / I & HIR Tethe

Correct Answer :-



« Copper sulphate into water / T H SIIR Tethe

31) Which one of the following solids is used as a drying agent in bottles containing medicinal tablets? /
FrafufEa & @ e ot &1y shusfig M are sl & 356 3@ a1 SRE! S ©u § fear wrarg?
1. Calcium carbonate / HRRIH HEHe

2. Sodium hydroxide / QfETH TRSTHIZS

3. Quicklime / fS=Tgg AT
4. Silica gel / ffe@T o/

Correct Answer :-

« Silica gel / R ot

32) What kind a learner is a child who seems to learn best when carrying out a physical activity related to the subject? /

9% 5= T avg &1 Rigmdf giar 2 ot farsht fawa A Waifta Wifas o1 @) 3 5T v srea1 Haar 82
1. Visual / T (fa931aT)

2. Aural / U (3{1¥a)

3. Kinesthetic / TG} (BT Rfew)

4. Reading/writing / &1/Ra (fSTRISEM)

Correct Answer :-

« Kinesthetic / TTfcRiad! @Eﬁ@ﬁﬁ?‘)

33) The chemical name of washing soda is: / IR AIST BT IS AH %:
1. Sodium carbonate / T STH BT

2. Sodium hydrogen carbonate / BIERES EE@TTFT HIEHC

3. Sodium hydrogen sulfate / T STH B'IB@\_YH Hahe

4. Sodium sulfate / TfSTH Getbe

Correct Answer :-

. Sodium carbonate / I STH BTHC

34) Which of the following are the objectives for science education at higher primary (V, VI, VII) level? / 3& e

(v, VI, Vi) TR & Rremr faanfiay & foe Fafafea A3 s e st

1. Observation, induction and deduction. / Yefor, Smm 3R e

2. Knowledge, comprehension and application. / 3T, JHL 3R w

3. Receiving, responding, valuing and organization. / 3fT Q-F/'IT%?IT, uﬁr%m, W 3R T3
4. Receiving, responding and valuing. / 3T 3-I";I'I_EDI, gfaferar sk W

Correct Answer :-

. Knowledge, comprehension and application. / T, SH 3R \3171'9@71

35) Which of the following cannot be used in mixed cropping? /
FrafafEa & @ fFae Sua fafda waa & 98 far o aear g2
1. Ragi+ mustard / AT + T4t

2. Wheat + gram / ﬁE + 3T

3. Wheat + mustard / ﬁ_ﬁ + Il



4. Soya bean + pigeon pea / TRATeE + 3RER DI g

Correct Answer :-

« Ragi+ mustard / AT + Tt

36) Tracking the learning process during the instruction period is which type of evaluation process? /

AT wftean &) RS 3afy & IR 3 B 59 TR B qeaie uihar 82
1. Formative evaluation / 30T He™ih

2. Summative evaluation / NTIE®H W

3. Placement evaluation / TIT- Hcdich

4. Diagnostic evaluation / AT+ a1

Correct Answer :-

. Formative evaluation / 3UaTR® HAih

37) Curriculum is a complete plan for of educational aims. / Qf&e STz F ¥ fou
UTSUHH U ol T B

1. implementation / AR
2. understanding / THL

3. evaluation / Hcdlh
4. visualization / P Ul

Correct Answer :-

. implementation / Hrafag

38) Crop rotation is a practice to grow on the same field. /

IRY 3T (Crop rotation) TH & A & ITSTA Pt ufehar 81

1. two or more crops together / Eﬁ a1 HBI T 34 Bad Tdh 1Y

2. two or more crops in definite row pattern together / A i ted A S a1 9 oiftres @ Th 1Y
3.all the above / IWiad Wit

4. a leguminous crop between two cereal crops / 21 3T aTelt Bad! & g Uh ;daR hid

Correct Answer :-

« a leguminous crop between two cereal crops / Y 3T aTell Bl & o Th hdlgR A

39) One of the statements made about consumers is incorrect. Identify the same. /
IUHIFTSHT & TIY H TP HUF Tad g1 SHB! Uga B |

1. They cannot manufacture their own food. /% 3R HieH 1 fAmfor Té‘rw Ighd|

2. Chemical energy is obtained from outside. /WW‘TW@W W%I

3. They do not have chlorophyll. /G:ﬁ? un%ﬁﬁmﬁb_(ﬂ ERIkGI %) |
4. They take in CO; and give out Oj. / | CO, UgUl CRGE WO, ?ﬁ@»ﬁ gl

Correct Answer :-

« They take in CO; and give out O5. / 3 CO, UgUl G % Td 0, @3[3?[ %I

40) One of the processes that involves the consumption of CO5is: /

€O, ¥t Tud ¥ e ufparsii & A vs @:



1. Forest fires / SITS BT 3T

2. Photosynthesis / UhTRT TR

3. Respiration / I

4. Combustion of substances / Terif &1 agd

Correct Answer :-

« Photosynthesis / UhIRI REGL

41) What is meant by intervarietal hybridisation? / Rﬁﬁ'ﬁlﬁ HH 0T (m Eﬁﬁ%ﬁm) o1 r A 82
1. Crossing between different genera / ol S7RT & &g i

2. Crossing between different varieties of plants / Ul &) firer-for fopet & o i

3. Crossing between genetically dissimilar plants / 3TaRI6 F0 ¥ AN Wt & S wirT

4. Crossing between two different species of the same genus / U B 59 & &) - gonfaat & ot sk

Correct Answer :-

« Crossing between different varieties of plants / qreif 1 ey feert & g iR
42) what is the literal meaning of the word “Science”? / "ﬁsﬂq" TS BT WMfch 3 = %?
1. Experiment / T

2. Knowledge / T4

3. Wisdom / gl
4. Logic / GEZ

Correct Answer :-

- Knowledge / T

43) Three resistors of 12 ohm each are connected in parallel. This combination is connected in series with a combination of two
resistors of 3 ohm each in series. Find the net resistance of this circuit. /

YD 12 3NH (ohm) F FIF UfeRIUE THMIGR U T IS §U &1 U8 VAo §Ta1 # Ud® 3 39 & §) ufaiel & Jaie & Iqry gaen
T Fo1 gU & 1 39 URUY HT Y HfaY J1d Y|

1.10 ohm/ 10 3
2.5.5 ohm / 5.5 319
3.42 ohm / 42 3|
4. 15 ohm / 15 3fi9

Correct Answer :-

« 10 ohm/ 10 3H

44) Ability to define an event in one’s own words and language is an indicator of : / f&H Te-T P fopelt F S Tea 3R HraT §
TRUITYT FA F &HdT SHPT TP JIF 8:

1. Providing explanation / PR UG HRAT
2. Communication skills / §ER BRI

3. Value/Attitude / Jed/HIgRT

4. Experimentation / pin

Correct Answer :-

. Communication skills / TTR BT



45) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /
9t 5t Tz F - B gr1 AR gl ga ot sreh anh et A E:

1. Charcoal / AR®IA

2. Coke / BIdH

3. Petroleum /a@ﬁﬂﬂ

4. Coal / HITal

Correct Answer :-

« Coal /1Tl

46) The near point for a normal eye is at a distance of: /

7o AT 39 & R e fig g &
1.30 cm from the eye / 7 9 30 9t
2.20 cm from the eye/ﬁ?[“?fzoﬁ'ﬁﬁ
3.25cm from the eye / 99 § 25 T

4.23 cm from the eye / I3 9 23 gt

Correct Answer :-

« 25cm from the eye / =9 25 I

47) CANCELLED

If the momentum of a body decreases by 20%, then its kinetic energy will decrease by:/
If TP IE BT T 20% U ATGT §, 9 TP fasl Sl B g AT

1. 40%

2. 18%

3.36%

4. 8%

Correct Answer :-

. 36%

48) In accordance with Dale’s Cone of Experience, which of the following media can help a student to retain about 30 percent of his
learning experience? / SAF A Wmﬂm% SYR, ﬁuﬁr@aﬁﬁﬁqmmmwwaﬁm 3fRAT Glﬁ?ﬁ'ﬁ 30
wfersra #1 ufaurfia #39 & uge HR aHar 82

1. Youtube / YR

2. Orkut / 3{R&C
3. Google Plus / T[ITT WY

4. Radio / XS
Correct Answer :-

- Youtube / YR

49) A doctor uses a for examining the ear of the patient. / T® S1deR I & P19 P oid A & forg T
BT IUURT BT 2|

1. concave mirror / 3ddd E'CfUT
2. concave lens / 3ddd AF

3. convex mirror / 3T GUUT

4. convex lens / 3TA A



Correct Answer :-

. concave mirror / 3{ddd YUl

50) The two forces acting on a body which is floating in a liquid is: /
T d Terd # R aTell 9 WR HTH B arelt &f 9 8¢
1. Buoyant force and frictional force / S&ITdd &¢T 3R TNur A

2. Gravitational force and buoyant force / ﬂbcdld>5fUl 9 3R IATH §d
3. Gravitational force and frictional force / W&UT EREIRENUE]
4. Buoyant force and centripetal force / 3ccildeh dcl 3R 3fip=ig 7a

Correct Answer :-

« Gravitational force and buoyant force / Wﬁfm g GﬁT RRNIECACN]

51) The characteristic which helps us to distinguish one sound from another sound having the same pitch and loudness
is i

fa=tyar 8 <t g gu fUrer iR U TR 91 $u1E a1 U @i &) 3= afy | iar ugar § ueg ael 7
1. velocity / T
2. amplitude / 3ITH
3. quality / T[OTaT
4. frequency/ 3T
Correct Answer :-

« quality / 0TI9Il

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the mass and velocity are doubled, then
find the ratio of the final kinetic energy to the initial kinetic energy. /

UM 'm' B TP qeg AT 'v' F 1Y T el a1 & quiaw o geedt 31 afe g 3R A7 #1 SR o far wirar 8, o sifew
nfas St 3R mfre nfast St &1 srguTa J1a B

1.1:8
2.4:1
3.8:1

4.1:4

Correct Answer :-

53) The pitch of the sound is determined by: /
@ o frg 39& gr1 Fuifva 9t e 8:

1. Amplitude / 3TIH

2. Intensity/?‘ﬂa?ﬂ

3. Frequency/ \H@ﬁf

4. Loudness/ UddIdl

Correct Answer :-

« Frequency/ 3“@1%[

54) The derived unit of the physical quantity, which is the product of mass and acceleration is: /

Vo AT B YA 3HTE, St SoTH 3R TR BT UG



1. pascal / R Tl

2. newton / gc

3. joule / S[&T
4. watt / dIc

Correct Answer :-

« newton / gc-

55) What are the food requirements of dairy animals? /

3 ugrel F W SraRgHag |1 82

1. The feed should include roughages and concentrates in balanced amounts /
ey H HIeT ART BT =fee Td sl Hgferd w6 3 &

2. Fresh green grass /
T g3 e

3. Mixed feed containing dry grass, grams and other roughages /

Tt N, T 3R 39 HieT IRT god i @
4. Nutritious feed with additives /

TS & TTY UNh e

Correct Answer :-

« The feed should include roughages and concentrates in balanced amounts /
@rel | HieT IR g1 9113 Ud Hiwse Jferd A § &1

56) A teacher always introduces the concept of atoms with the same example.This shows he did not consider: / T%

gﬁfﬁﬁmwﬁmﬂ?mumaﬁaﬁmmmw&m%lWﬁ@m%%mﬁﬁnﬂﬁﬂﬂﬂﬁ

1. His/her student's previous knowledge. / ISP B & Usd NGl

2. The new facilities available to him/her. / I 1%111 :|§ ﬁﬁ‘iﬂﬁ U %I
3. How to update his/her knowledge?/ 3T P HY 3uge fpar WITg?

4. How to keep all the students attentive? / Tt @‘IBh ﬁ %ﬁw ﬁ @?

Correct Answer :-

« His/her student's previous knowledge. / ISP BF & Usa NIkl

57) Which of the following can be used for making students independent learners? / frafafaa 9 3 feae Iua
Bl 3t waa Rigndf a9M F g forar s awar 82

1. ICT resources / &ﬂﬁ?ﬁ 1=

2. Assignment with long answer based questions / & ITRIT e weit & 1y gy T B (\}Iﬂ'l'si:lﬂ"c')
3. Quiz / R

4. Group discussion / waj%aa e

Correct Answer :-

« ICT resources / \’rI'Ig?ﬂ?ﬂ e

58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

T 2014 7%, A Weftra A gga sram=a A1 et 379 A P Fefig sar @2
1. Tetanus bacteria / <o S IfRan



2. Taeniasis / SI=adl (‘c'l%ﬁﬁl?{)
3. Tetanus toxoid /%’me‘ra@r“rq—s’

4. Tuberculosis / T&HT (@Iﬂﬁﬁlﬂ)
Correct Answer :-

« Tuberculosis / J&HT (CISRP ANIH)

59) A teacher discusses the difference between textbook theories and current ongoing research on the same subject. This

shows that: / T® R1&/® TP & fawy W uTeaqwas & Rigial o adur & 7 38 My & St 3fav wR =t dwar
21 gg euifar @ f:

1. Science is tentative / faH, H“—fﬂ%ﬁ%l
2. Science is interdisciplinary /ﬁs‘ﬂ:f, 3X ﬁ’m%l
3. Science is rapidly expanding / fagm, oot ¥ foaR R &1 %I

4. Science promotes questioning / a3, ara A Pl Jeldl o %I

Correct Answer :-

« Science is tentative / T3, T‘WTI%?T%I

60) Which of the following does not reflect features of a well-developed learning objective? /ﬁ'ﬁ'ﬁ‘l’@ﬁ ﬁﬁﬂ’ﬁqw

IS v A fawfyd iRrTH ST xy &) faxtwars &) use 8! Hrar 82
1. The teacher holds tests regularly. / Rrerer Fafid = J gden smaifSid e=xar g1

2. The teacher performs an experiment before the beginning of a topic. / Rrerep foplt fawg &t IR Y Ugd U YN Hdl
gl

3. The teacher explains a law and their uses. / FRI&® T W 3R I IUTNT Bt RSAT HRAT g |

4. The teacher uses a mix of English and the local language in class. / 2161 e ST 3R TG HTST & f8or &1
SN Rl 5

Correct Answer :-

« The teacher explains a law and their uses. / T8/ Teb o SiR I IUGNT &t RSN BT B 1



